olth. a + b9 F& Fstoizh (H,

x(x+b)
a b%%}#)
1 1
x(x+2) + (ic—|—2)(x—|—4) +
G0 +6) +6)x18)  GL8)(x+10)




2. “1<x<19W, Ve -2x+ 14 VaZ +2x+ 1 9] & Fstofeh

S ER
=%



3. 2+ V3= +Va+bV3(a bE )L W, a-bo] g2

D -2 ® -1 B 1 @ 2 B 3



4.

fixy » (x=2y+1),¢g :
V=xF2+10°] gofol 25te] H

D y=+Vx-2-1
® y=-+vx-2
® y=-vx-2






4x2 a b
+

GG D a1 (1

HE 2 A% g, b, 9] S AIS

D 2 @ 3 3 6

Cc =1 5L=
+ +17}x°ﬂ%?}°c]'—o‘

o, abc 9] 27

@ 12 B 24



54 S = 2 MEATE A AAS abco] Dot

a® 4+ b + ¢ 9] g2 Fstof=t

 E:
=%



a® + ab + 2b?



o ghe Tohd? (Ho<a<1)

44x
92 a’+1
Y @
a



ol di Aot

S

@ (1, 1)l o

@ k|7t

(1, 1)°ll 7P7hei A,

Zo
i I S

=X
255

ol

Tof ti A o]ct.

©

®y=-—x+2°d



11.

ﬁgﬁgo]%—fl (x, y) —

(x+m, y+n) ol oJste] B35t y:xj;l
"/l\‘y: X+3_413H_\_L§ ﬂéuﬂ,m—nﬂ]



12.

)=
L

oA <

@

TET flx) =

Lol g =t H (a-1, 2a) EAG W, 1 <x<3
X

T f(x) o) HRAFL? (F, a & A

N | —

@1 ©)

N | Ot



13.

> 0) S g(0) = 22 T (fog)(v) = x B

x) o A2 FHA] x = my = n Y






S omd oo
s o 4>
s B <
Tee
ﬁgT
1=
£+
= o
iL
a5
2|y
L-\i
>
oy
AE
AUNy)
|

0(39  a(ho
D

@ (_ \/5» 0)



16. y= Vi=1+29] elgisi

T

O y=x+4x+3(x>2) @ y=x*-4x+5(x22)

®y=x*+4x+3(x=1) @ y=x>—4x+5(x=1)

® y=x>-3x+2(x23)



17.

a+b+c=0, a®?+b%+c%2 =2, abc =34 1,

o gre?

ad + b3+ ¢3

1

1 2 1 4 3
©-; ©-: O@-; @-; O-

9 3

c



2 _ _
18, B3 _3HA_AXB o g ko o P AS
a C

BE pEW9

D -1 ® 0 B 1 @ 2 ® 3



2
o] f,

St
» H

U HESg:5

o

11
26



20.

O] Fr2(H, (x| xHr 4] &



VX+2+ Vx—-2

Vit2-vio2
@ a-1

ol g Fokm?

® a+1



22,

2x+3
i _
filx) = T

o, fioo(1) o] BE27?

off Hate for1 =

o fuln =1,2,3,--

)

olzt






24.

T f(x) = Vx+ 20 tiste] y =

flx) 9 2L} x=o] TrtE M-S
Ay = fHx) 9 2jmet ySo] vht=
e Betshah y = f() %y = (%)
o] Je ot vhtE wH-E Pt & o,
47Y4 ABP 9] Yo|& stH?

® 5 @ 6 ® 42
@ 8 ® 10

y p—
=@ J°
2L AT
INZ /b
—9 /2 T
-2B




25, Vx+2=x+k7t A2 OE F M9 & 71 o Ak 9] 3he
HAE 7 (T k= A

@2<k<% @ 2<k<

@ k<2 ® 2<k<



